

## Divide by $10^{-3}$ (C)

Find each quotient.

$$27 \div 10^{-3} =$$

$$84 \div 10^{-3} =$$

$$2 \div 10^{-3} =$$

$$8 \div 10^{-3} =$$

$$93 \div 10^{-3} =$$

$$6 \div 10^{-3} =$$

$$55 \div 10^{-3} =$$

$$3 \div 10^{-3} =$$

$$88 \div 10^{-3} =$$

$$96 \div 10^{-3} =$$

$$67 \div 10^{-3} =$$

$$29 \div 10^{-3} =$$

$$70 \div 10^{-3} =$$

$$66 \div 10^{-3} =$$

$$6 \div 10^{-3} =$$

$$93 \div 10^{-3} =$$

$$6 \div 10^{-3} =$$

$$20 \div 10^{-3} =$$

$$58 \div 10^{-3} =$$

$$99 \div 10^{-3} =$$